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QUESTION 1

Which of the following statements are TRUE regarding the Predefined PCC rules? (Choose two) A. The Predefined
PCC rules are preconfigured on the PCRF.

B. The Predefined PCC rules are preconfigured on the PCEF.
C. The Predefined PCC rules are preconfigured on the MME.
D. The Predefined PCC rules are activated or deactivated by the PCEF at any time.
E. The Predefined PCC rules are activated or deactivated by the PCRF at anytime.

Correct Answer: BE

QUESTION 2

Which of the following statements is FALSE regarding the SGW?

A. A UE may be served by more than one SGW at a given time.

B. The SGW is connected to the E-UTRAN via the S1-u interface.

C. The SGW may provide data plane connectivity between two eNodeBs.

D. The SGW connects to the PGW via the S5/S8 interface.

E. The SGW acts as a common anchor point during handovers between LTE and Release 8 UMTS networks.

Correct Answer: A

QUESTION 3

Which of the following does not apply when an MG-ISM group is configured on an Alcatel-Lucent 7750 MG? (Choose
two)

A. A maximum of two MG-ISM cards may be configured in a group.

B. The redundancy model must be configured and it is always displayed as one-to-one
C. The MG-ISM cards configured in the same group must be contiguous.

D. Only one MG-ISM card in a group may be configured as working,

E. More than one MG-ISM card in a group may be configured as protect.

F. The gateway instance must be specified during the group configuration.

Correct Answer: CE

4A0-M02 PDF Dumps | 4A0-M02 Practice Test | 4A0-M02 Braindumps 2/5


https://www.passapply.com/4a0-m02.html
https://www.passapply.com/4a0-m02.html
https://www.passapply.com/4a0-m02.html

VCE & PDF https://www.passapply.com/4a0-m02.html

2024 Latest passapply 4A0-M02 PDF and VCE dumps Download
PassApply.com

QUESTION 4

Based on the information shown in the exhibit, when the SGW sends a "Create Session Request" message to the PGW,
which of the following is the source IP address expected in the IP packet?
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FA:SG=config>router>=# info
’ ................. m o . o, - i

interface "int-sll-slu”
address 10.10.2.1/24
port 1/1/2

exXitc

interface "int-s5"
address 10.10.7.1/24
port 1/1/1

exit

interface “int-s5-27
address 20.20.0.1/24
port 1/1/5

exitc

interface "systen”
address 72.22.24.163/32

exit

*h:5GW# configure mobile-gateway serving 1
FA: SC6Wconfigeunobile> serving# info

apn "default”
exit
kpi-kci
exic
signaling
diame ter
profile "default"™
exit
interface "systen™
exic
all
interface
gtp-c "int-sll-slu”
exitc
exic
a5
interface
gtp-c "int-35i"
gtp-u "int-s5"
exit
exit
no shutdown
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A.10.10.2.1

B. 10.10.7.1

C.20.20.0.1

D. 72.22.24.163

E. None of the above answers are correct

Correct Answer: B

QUESTION 5

Which of the following does not apply during the CPM selection of an MG-ISM card?

A. The CPM load balances amongst all configured MG-ISM groups.

B. The CPM load balances based on the number of sessions currently handled by each MG-ISM group
C. All sessions established for a given UE are handled by the same MG-ISM group.

D. The selected MG-ISM card is responsible for bearer management and TEID assignment.

E. All of the above statements apply.

Correct Answer: A
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